STUDER

OnAir 2000 Digital

Mixing Console

Correlator 30 LED, 2-CH 1.913.109.81 ( 0)

Correlator 30 LED, 2-CH 1.913.109.81 (0) / 4-CH 1.913.100.81 (0) Page: 1 of 1
MP13 - o
Idx. Pos. Part No. Qty. Typel/Val. Description Idx. Pos. Part No. Qty. Type/Val. Description
MP18 wp 11
0 MP9 1.913.109.04 1 pce STUDER-NR.-ETIKETTE 10 * 20
0 MP11 1.913.010.41 1 pce FRONTSCHILD 1E 30LED CORR.2CH
0 MP12 1.913.010.40 1 pce TRAEGER 1E 30LED CORRELATOR
na 0 MP13 21.99.0175 2 pcs M3*6 S-Schraube IS A2 sw oxydiert
n 1 ‘:t \ 0 MP14 1.913.136.03 1 pce FENSTER BUS SELECTOR +VU
g MP 14 0 MP15 1.913.212.93 1 pce LL KORRELATOR 2CH
1 MP19 HA j — 0 MP16 1.913.109.93 1 pce LL CORRELATOR 30 LED
] = 0 MP17 1.913.212.00 1 pce RRELATOR BOARD A
HP co OR BO,
L 1 AN Mp 72 0 MP18 24.16.3023 2 pcs 23 Wellensicherung
0 MP19 1.010.022.21 2 pcs M3*8 L-Schraube IS sw spezal
Mp20 0 MP20 21.01.2353 3 pcs M3*5 S - Schraube Zn bl chr
0 MP21 1.913.095.00 1 pce CORRELATOR 30LED 2CH A
End of List
M/Dz 7 M/D 76 W M/DZ 7 Comments:
/ twisted
blk
el (A
redg "t +7 : MP17
+15V D g
whte e blu
4/) INT IN2 ° o
A ° ° U
hd 1
blk brn b
rn o brn
4
. red 4
red
bra red == MP15
® @) W oo ==
5201 11.01\hm | AK | | ©
S 5| Date Visa |Checked | Seen
Datum Gez. |Gepr.| Ges. | M9eX
0 LS P
originatiormst: A7 | 2t 171
STUDER S5
REGENSDORF Correlator 30 led FSE\EE 1.917.109-81
MP13
w10 W18 Correlator 30 LED, 4-CH 1.913.100.81 ( 0) Page: 1 of 1
M1 ge:
Idx. Pos. Part No. Qty. Type/Val. Description Idx. Pos. Part No. Qty. Type/Val. Description
—
= 0 MP9 1.913.100.04 1 pce STUDER-NR.-ETIKETTE 10 * 20
ﬁr | \ 0 MP10 1.010.031.22 1 pce 1/4*40NS Abdeck-Mutter Ms Ni
1 L 5 MP 14 0 MP11 1.913.010.42 1 pce FRONTSCHILD 1E 30LED CORR.4CH
1 57 MP19 FA — 0 MP12 1.913.010.40 1 pce TRAEGER 1E 30LED CORRELATOR
u i) = 0 MP13 21.99.0175 2 pcs M3*6 S-Schraube IS A2 sw oxydiert
L BN Mp 72 0 MP14 1.913.136.03 1 pce FENSTER BUS SELECTOR +VU
0 MP15 1.913.211.93 1 pce LL KORRELATOR 4CH
MP20 0 MP16 1.913.109.93 1 pce LL CORRELATOR 30 LED
0 MP17 1.913.212.00 1 pce CORRELATOR BOARD A
0 MP18 24.16.3023 2 pcs 23 Wellensicherung
0 MP19 1.010.022.21 2 pcs M3*8 L-Schraube IS sw spezal
0 MP20 21.01.2353 3 pcs M3*5 S - Schraube Zn bl chr
MP21 WP 16 0 MP21 1.913.095.00 1 pce CORRELATOR 30LED 2CH A
i 0 S1 55.01.0115 1 pce 4*on-none-on Kippschalter Ag
twisted MP21
blk AN End of List
2 15y . \'JQ]% Comments:
redg "t +7 MP17
+15V D g
whte~ ~e blu
) INT IN2 oo
A
0 = s
4
gry8blué yels red? 4
blk16 wht13 —
wht15 blk14 = TI‘,
/\ Toggle S201.11.01hm | KK | M| ©
Switch S1 = 2 0ete Visa |Oede | Seen ||
—— % =] Datun Gez. |Gepr.| Ges. | 'M9eX

Date printed: 12.09.06

71 LY
yeléorg3red2 brnt
ViED5 bk Te

Wit >T><

]_ﬁ{i v_/f]bﬁy!g;ra!
\/

Original Size Page
Originalfornat seite. /1

STUDER
REGENSDORF

Lorrelator 30 Led,sCH ESE

8 7.913.100-41

Section 1



STUDER

On-Air 2000 Digital Mixing Console

Correlator 4CH 30 LED
Correlator 2CH 30 LED

1.913.100
1.913.109

. . . . . .
! J ]
™3
R 33 1]
-6V 22 Q 24
g r s “ 1
s |
v 5.0r !
. . n |
e Y k26 I
£ 20k !
3
Sovt }
R0 [R24 |R 22 R25 g |
470 | |68k |33 & |
oH 4o ot 4kT | g oo
|
o 30 L+
CH b i ® 5K 5 N? mT mT
ic3 cas s 2 2 8 &
4 A 796 2er
CH 3b MC 4496
C47
22p ci c2
CH 2¢ 36
1000 DoT 1000
LJ ¢
CH4o
oH zb
o SYMMETRY +15V
3 R 28
CH4b T—O—E 40 k
lin
R3s B2k
470 kK <
R 32 oy R = 2,75y
22k 1] I
+15V
N — 10 R50 R68 VLED
GE
w +15 0.3A
8
g P4
$ ove
5
g
&
H
I
.
. -15
w6 +I5V 415V #5V 415V
5y +15V +15V +15V
c33 cet ci o7
. & 19 & 17 8 1c6
. 100n 186n 100n 100n
3 32 026 cio
o LF3s3 o LF3s3 J LF3s3
I 100n 180n 100n
’ ° ° © * -15v -15Y -15v
Luzers S5V 15V -5V
ica,5,8
WOR sien s o
: 1 Re 4550 AL ovi 4e I
6 "3 164,2,3 Aleelz o 15V 42 n
. 10 Gl ova 4ol scrab
M s 4 5 +18Y 8 Tch4a 10.12.2001
3 CHAa 6 B
3 “© 2 o | et 4 4 7 @ %12 207 77 | o) () @) ]
H 1; ! 8 sle el cHze 2 oH 2b m TPAGE T OF 1|
STUBER ] CORRELATOR BOARD i tem.212.00 |STUDER|  CORRELATOR 30 LED [ [1.913.095.00]
e BOTTOM VIEW —————— o fronT vitw ——

SECTION |




STUDER

OnAir 2000 Digital Mixing Console

Correlator PCB  1.913.212.00 ( 4)

Rioke @
34
%
: o [
o
o{RE e
[e} © =
b © c3 I Lo
R34] +
red !
25 TP4 -
//5-/; 8 W
®<\m ge o ag 43
B 9 vno7 9rn5 org 4brn *: ?‘
10@ @ - ,
@9'!@ 0 CH4 CH3 CH2, CHi o
2
2 82 ! ms blus yeM redan i
brn 43 wht
LA ff.;-:czw 3o |; M —R4 @
N -; PR S KM l: uR_‘ .‘mcl“ 53 o °
' " 14
. ed bk )
©

A

1]

Date printed: 12.09.06

53.03.04€6

Twisted wires A and B in version 1.913.109.00 only

[3oriesdd 4] ]2
pl2MBBAK 4 4
§101254AH04— 7
4.1.84 AMO Ay jp-
§9.2.83 AHoay #
&

& Dawm Ger. Geor Ges

¥ In insulating tube 65.03.0146

S1used for version ¥ * ’."‘ *
1.913.100.00 only Q Q
4 3 2 {
yel Jorg [red jbrn
e LT TT
AU I R R A
twisted :_T )-51-( -C—:
e LT TeeT T
1 1alL
ary - Jvie [blu fora
s L7 lels
U
% % % *
STUWOER

REGENSDOAX
pILEL]

CORRELATOR BOARD

|

I 4.943.242

Section 1



STUDER

OnAir 2000 Digital Mixing Console

Correlator PCB 1.913.212.00 (0)

Page: 1 of 1
Idx. Pos. Part No. Qty. Type/Val. Description Idx. Pos. Part No. Qty. Type/Val. Description
0 C1 59.34.1120 12p CER 63V, 5%, NP 0
0 C2 59.02.5683 68n MPC, 5%, 250V
0 C3 59.12.7752 7n5 PS 63V 1%
0 C4 59.22.5101 100u EL 25V 20% RM5
0 C5 59.12.7392 3n9 PS 63V 1%
0 Cé6 59.34.4680 68p CER 63V, 5%, N750
0 Cc7 59.22.5101 100u EL 25V 20% RM5
0 Cs8 59.34.1120 12p CER 63V, 5%, NP 0
0 C9 59.02.5683 68n MPC, 5%, 250V
0 Cc10 59.12.7752 7n5 PS 63V 1%
0 C11 59.22.5101 100u EL 25V 20% RM5
0 C12 59.12.7392 3n9 PS 63V 1%
0 C13 59.34.4680 68p CER 63V, 5%, N750
0 C14 59.22.5101 100u EL 25V 20% RM5
0 Ci15 59.22.5101 100u EL 25V 20% RM5
0 C16 59.26.1220 22u SAL 10V 20%
0 Cc17 59.26.1220 22u SAL 10V 20%
0 C18 59.22.4221 220u EL 16V 20% RM5
0 C19 59.22.4221 220u EL 16V 20% RM5
0 D1 50.04.0125 1N4448 75V, 150mA, 4ns, DO-35
0 D2 50.04.0125 1N4448 75V, 150mA, 4ns, DO-35
0 D3 50.04.0125 1N4448 75V, 150mA, 4ns, DO-35
0 D4 50.04.0125 1N4448 75V, 150mA, 4ns, DO-35
0 IC1 50.09.0107 4559 Dual Op-Amp
0 Ic2 50.09.0107 4559 Dual Op-Amp
0 IC3 50.05.0122 1496 Multiplier TO100
0 MP1 1.913.210.11 1 pcs CORRELATOR BOARD
0 MP2 54.02.0471 25 pcs Stift d 1.5*5.5 16t
0 P1 54.14.2012 16p Winkelstecker Au
0 R1 57.11.3562 5k6 MF, 1%, 0207
0 R2 57.11.3562 5k6 MF, 1%, 0207
0 R3 57.11.3151 150R MF, 1%, 0207
0 R4 58.01.7102 1k0 Cermet, 10% 0.25W
0 RS 57.11.3472 4k7 MF, 1%, 0207
0 R6 57.11.3103 10k MF, 1%, 0207
0 R7 57.11.3103 10k MF, 1%, 0207
0 R8 57.11.3221 220R MF, 1%, 0207
0 R9 57.11.3333 33k MF, 1%, 0207
0 R10 57.11.3562 5k6 MF, 1%, 0207
0 R11 57.11.3562 5k6 MF, 1%, 0207
0 R12 57.11.3151 150R MF, 1%, 0207
0 R13 58.01.7102 1k0 Cermet, 10% 0.25W
0 R14 57.11.3472 4k7 MF, 1%, 0207
0 R15 57.11.3103 10k MF, 1%, 0207
0 R16 57.11.3103 10k MF, 1%, 0207
0 R17 57.11.3221 220R MF, 1%, 0207
0 R18 57.11.3333 33k MF, 1%, 0207
0 R19 57.11.3471 470R MF, 1%, 0207
0 R20 57.11.3471 470R MF, 1%, 0207
0 R21 57.11.3682 6k8 MF, 1%, 0207
0 R22 57.11.3332 3k3 MF, 1%, 0207
0 R23 57.11.3332 3k3 MF, 1%, 0207
0 R24 57.11.3153 15k MF, 1%, 0207
0 R25 57.11.3472 4k7 MF, 1%, 0207
0 R26 58.01.8203 20k Cermet, 10%, 0.5W, horizontal
0 R27 57.11.3822 8k2 MF, 1%, 0207
0 R28 57.11.3822 8k2 MF, 1%, 0207
0 R29 58.01.8103 10k Cermet, 10%, 0.5W, horizontal
0 R30 57.11.3471 470R MF, 1%, 0207
0 R31 57.11.3471 470R MF, 1%, 0207
0 R32 57.11.3223 22k MF, 1%, 0207
0 R33 57.11.3479 4R7 MF, 1%, 0207
0 R34 57.99.0206 50R PTC, 25V, 0.5W
0 R35 57.99.0206 50R PTC, 25V, 0.5W
0 T1 1.022.218.00 1:1 EINGANGSTRAFO 1:1
0 T2 1.022.218.00 1:1 EINGANGSTRAFO 1:1
0 Wi 1.010.324.64 RM10.2 U shaped wire 0.6mm
0 w2 1.010.324.64 RM10.2 U shaped wire 0.6mm
0 XIC1 53.03.0166 8p DIL-socket 0.3"
0 XiC2 53.03.0166 8p DIL-socket 0.3"
End of List
Comments:
Section 1

Date printed: 11.09.2006



STUDER OnAir 2000 Digital Mixing Console

Correlator 30 LED PCB 1.913.095.00 (0)

MP5, MP6— M P101...P136 on solder side

P236
P235
P234
P233
P232
P231
P230
P229
pP228
p227
P226
P225
P224
P223
P222
P221
P220
P219
P218
P217
P216
P215
P214
P213
P212
P211
P210
P209
P208
P207
P206
P205
P204
P203
P202
P201

c2

C7
red

TP11
blk
TP10

DL1
IC3

R9
o
IS

TP8

A

N
o 2
&9
wht

TP4

R63
R64 S5

DL2

TP9

R66 —
TI0 c42 &)

69

N[N
INs

IR R

N
1C2
R6 R7
C10 C11
s e
— = =
H o Bw
C32 C33
H
L‘O—
bl

DL4

R

4x MP4

R
sl
00

R4

DL3
IC1
R2

R1

\
|
c26 c27 R65

N
7
™ U U0V TVTTUVTUVOVDTUVUTUVTTOUVTUVTOUVDOLVOUVUTOUVUTUVTTOUTUVTTWTUTWTVTUVTTUVTDTWVTVTTOVTVTTDVTDDTDVTDTVTD

/
/ T

OO0O0O0OOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOO

#0000

£105.12.2001 [T ML [HW [®
Date Visa |Checked | Seen
Datum Gez. |Gepr. | Ces

o 1/ 1

¢ CORRELATOR 30 LED, ESE|Z 1.915.095.00

Index

STUDER
REGENSDORF

Date printed: 12.09.06 Section 1



STUDER

OnAir 2000 Digital Mixing Console

Correlator 30 LED PCB

1.913.095.00 (0)

Page: 1 of 1

Idx. Pos. Part No. Qty. Type/Val. Description ldx. Pos Part No. Qty. Type/Val. Description

0 c1 59.60.3337 1pce  100n CER 50V, 10%, X7R, 0805 0 P8 54.02.0471 1 pee Stift d1.5*5.5 16t

0 c2 59.60.3337 1pce  100n CER 50V, 10%, X7R, 0805 0 P9 54.02.0471 1 pee Stift d1.5*5.5 16t

0 c7 59.60.3337 1pce  100n CER 50V, 10%, X7R, 0805 0 P10 54.02.0471 1 pee Stift d1.5*5.5 16t

0 c10 59.60.3337 1pce  100n CER 50V, 10%, X7R, 0805 0 TP11 54.02.0471 1 pee Stift d1.5*5.5 lot

0 C11 59.60.3337 1 pce 100n CER 50V, 10%, X7R, 0805

0 c13 59.60.2241 1pce  47p CER 50V, 5%, COG, 0603 End of List

0 C14 59.60.3337 1 pce 100n CER 50V, 10%, X7R, 0805

0 Cci5 59.60.3337 1pce  100n CER 50V, 10%, X7R, 0805 Comments:

0 C19 59.68.0073 1 pce 220u EL 16V, 8.0*10.7

0 C22 59.68.0073 1 pce 220u EL 16V, 8.0*10.7

0 C25 59.60.2373 1 pce 1n0 CER 50V, 5%, COG, 0805

0 C26 59.60.3337 1 pce 100n CER 50V, 10%, X7R, 0805

0 c27 59.60.3337 1 pce 100n CER 50V, 10%, X7R, 0805

0 C30 59.60.3337 1 pce 100n CER 50V, 10%, X7R, 0805

0 C32 59.60.3337 1 pce 100n CER 50V, 10%, X7R, 0805

0 C33 59.60.3337 1 pce 100n CER 50V, 10%, X7R, 0805

0 C42 59.60.3337 1 pce 100n CER 50V, 10%, X7R, 0805

0 C43 59.60.3337 1 pce 100n CER 50V, 10%, X7R, 0805

0 DL1 50.04.2150 1 pce MV57164 10*LED-Bargraf rot diffus

0 DL2 1.913.109.01 1 pce 5 LED DISPLAY RED

0 DL3 50.04.2161 1 pce GRN DLZ MV 54 164,LTA1000G 10*D GN

0 DL4 1.913.109.02 1 pce 5 LED DISPLAY GREEN

0 IC1 50.11.0119 1 pce LM3914 IC LM 3914 N,

0 IC2 50.11.0119 1 pce LM3914 IC LM 3914 N,

0 IC3 50.11.0119 1 pce LM3914 IC LM 3914 N,

0 IC6 50.61.0207 1 pce LF353 Dual Op-Amp JFET SO 8

0 IC7 50.61.0207 1 pce LF353 Dual Op-Amp JFET SO 8

0 IC9 50.61.0207 1 pce LF353 Dual Op-Amp JFET SO 8

0 MP1 1.913.293.11 1 pce VU/PPM/GRM METER PCB

0 MP2 1.913.109.04 1 pce STUDER-NR.-ETIKETTE 10 * 20

0 MP3 43.01.0108 1 pce Label ESE-Warnschild

0 MP4 1.913.109.03 4 pcs DISPLAY UNTERLAGE

0 MP5 1.010.057.22 1 pce M3*7.4 Nietmutter sw 6

0 MP6 1.010.057.22 1 pce M3*7.4 Nietmutter sw 6

0 P101 54.11.0125 1p Pin, 1reihig, winkel

0 P102 54.11.0125 1p Pin, 1reihig, winkel

0 P103 54.11.0125 1p Pin, 1reihig, winkel

0 P104 54.11.0125 1p Pin, 1reihig, winkel

0 P105 54.11.0125 1p Pin, 1reihig, winkel

0 P106 54.11.0125 1p Pin, 1reihig, winkel

0 P107 54.11.0125 1p Pin, 1reihig, winkel

0 P108 54.11.0125 1p Pin, 1reihig, winkel

0 P109 54.11.0125 1p Pin, 1reihig, winkel

0 P110 54.11.0125 1p Pin, 1reihig, winkel

0 P111 54.11.0125 1p Pin, 1reihig, winkel

0 P112 54.11.0125 1p Pin, 1reihig, winkel

0 P113 54.11.0125 1p Pin, 1reihig, winkel

0 P114 54.11.0125 1p Pin, 1reihig, winkel

0 P115 54.11.0125 1p Pin, 1reihig, winkel

0 P116 54.11.0125 1p Pin, 1reihig, winkel

0 P117 54.11.0125 1p Pin, 1reihig, winkel

0 P118 54.11.0125 1p Pin, 1reihig, winkel

0 P119 54.11.0125 1p Pin, 1reihig, winkel

0 P120 54.11.0125 1p Pin, 1reihig, winkel

0 P121 54.11.0125 1p Pin, 1reihig, winkel

0 P122 54.11.0125 1p Pin, 1reihig, winkel

0 P123 54.11.0125 1p Pin, 1reihig, winkel

0 P124 54.11.0125 1p Pin, 1reihig, winkel

0 P125 54.11.0125 1p Pin, 1reihig, winkel

0 P126 54.11.0125 1p Pin, 1reihig, winkel

0 P127 54.11.0125 1p Pin, 1reihig, winkel

0 P128 54.11.0125 1p Pin, 1reihig, winkel

0 P129 54.11.0125 1p Pin, 1reihig, winkel

0 P130 54.11.0125 1p Pin, 1reihig, winkel

0 P131 54.11.0125 1p Pin, 1reihig, winkel

0 P132 54.11.0125 1p Pin, 1reihig, winkel

0 P133 54.11.0125 1p Pin, 1reihig, winkel

0 P134 54.11.0125 1p Pin, 1reihig, winkel

0 P135 54.11.0125 1p Pin, 1reihig, winkel

0 P136 54.11.0125 1p Pin, 1reihig, winkel

0 R1 57.60.1222 1 pce 2k2 MF, 1%, 0204, E24

0 R2 57.60.1223 1 pce 22k MF, 1%, 0204, E24

0 R4 57.60.1000 1 pce ORO MF, 0204

0 RS 57.60.1222 1 pce 2k2 MF, 1%, 0204, E24

0 R6 57.60.1222 1 pce 2k2 MF, 1%, 0204, E24

0 R7 57.60.1223 1 pce 22k MF, 1%, 0204, E24

0 R9 57.60.1000 1 pce ORO MF, 0204

0 R11 57.60.1000 1 pce ORO MF, 0204

0 R18 57.60.1682 1 pce 6k8 MF, 1%, 0204, E24

0 R19 57.60.1682 1 pce 6k8 MF, 1%, 0204, E24

0 R20 57.60.1330 1 pce 33R MF, 1%, 0204, E24

0 R21 57.60.1122 1 pce 1k2 MF, 1%, 0204, E24

0 R22 57.60.1102 1 pce 1k0 MF, 1%, 0204, E24

0 R23 57.60.1512 1 pce 5k1 MF, 1%, 0204, E24

0 R24 57.60.1512 1 pce 5k1 MF, 1%, 0204, E24

0 R50 57.92.7012 1 pce 0.3A PTC 60V

0 R53 57.60.1223 1 pce 22k MF, 1%, 0204, E24

0 R61 57.60.1682 1 pce 6k8 MF, 1%, 0204, E24

0 R62 57.60.1223 1 pce 22k MF, 1%, 0204, E24

0 R63 57.60.1222 1 pce 2k2 MF, 1%, 0204, E24

0 R64 57.60.1223 1 pce 22k MF, 1%, 0204, E24

0 R65 57.60.1105 1 pce 1MO MF, 1%, 0204, E24

0 R66 57.60.1103 1 pce 10k MF, 1%, 0204, E24

0 R67 57.60.1103 1 pce 10k MF, 1%, 0204, E24

0 R68 57.60.1000 1 pce ORO MF, 0204

0 R69 57.60.1000 1 pce ORO MF, 0204

0 RAS 58.01.9502 1 pce 5k0 Cermet, 10%, 0.5W, vertical

0 RAG6 58.01.9103 1 pce 10k Cermet, 10%, 0.5W, vertical

0 TP1 54.02.0471 1 pce Stift d 1.5*5.5 16t

0 TP2 54.02.0471 1 pce Stift d 1.5*5.5 16t

0 TP3 54.02.0471 1 pce Stift d 1.5*5.5 16t

0 TP4 54.02.0471 1 pce Stift d 1.5*5.5 16t

Date printed: 12.09.2006

Section 1





